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But now it should be permitted to make Mugmor on Yom Tov

OVERVIEW

*55 17 challenged &59 27 (who ruled that it is v"v2a 75702 2Ww13% nn), if you are
permitting the 79°v2 on account of T1nn, you should also permit 7312 on account of
702, Our Moo discusses the view of "9 27 regarding 7107,

nooIn asks:
- 2N1M 999 Y91 A NIYO NN 7900 13799NT 920 KD 99 2WPN 993 N1TH 99NN ON)

And if you will say; the same question (which *95 27 asks X955 17) applies to 217
09 as well, for does not "5 27 agree that we use the 70> of TWn%, since 7NN is
the reason 7''2 allow carrying out on 0"y’ —

n90IN answers:
- AN 2195y PNRT OIYN DIN MY NNPYVT 9210 PNV 920 UM

And one can say; that *55 27 thought that the reason 77''3 permits carrying out (a
"2 jvp) is because 71"2 maintain there is no need for M7°Xn 2y7%, and no

prohibition against carrying out on v"v, however (even) 1"2 do not agree to I3 -
= 1823 RIPIYN PHYT RPYD NPT

As 721 initially assumed in 77253 N207, that 71 is 9°nn only because 1"1°2 IR 1Y PR —

mMooIn responds to an anticipated difficulty:
- 1Y YPY RY 299 299 XNIYT “nYy 1999 ONNYT 23 HY 9N

Even though 701" 27 there challenged and refuted this view of 7127 (so how can
we say that " 17 follows this view)? n901n responds; perhaps 522 29 did not

hear this refutation (and/or disagrees that it is a refutation) and (therefore) still assumed that
the reason of 13"2 is because of 7IR¥1T 217°Y PR, but not on account of Tnn.

mooin offers an additional answer to the original question:
= 99)91 9249 XYW 1aD2) TNY XHY NN 920 NPNY 9D ¥ My

! See mam 7"7 "wA; they would burn spices over a fire in order for the clothes to absorb the pleasant odor from the
smoke of this fire.
2 707 is the reason 73"2 permit carrying out in to the 7" on " a 39191 n"o ,jvpP. See X,2° 7¥°2 and previous 71"7 MOOIN
Tnn [TIE footnote # 3]).
? See “Thinking it over’.
* qov 27 asked if the reason of 71" is because v"¥2 XXM Y X, one should be permitted to carry out stones
(which [presumably] all agree that it is prohibited to carry out stones on v'"").
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And additionally one can say; that "5 27 also assumed that 7"2 maintains 7%
TIXD RO N1 7nT TRY 7mnw, provided that this an°i applies to something
usual as carrying out a child, etc. (but not regarding ©"1°2 77102 X°2) -

19201 290 "33 139X N1 7299 Y919
And therefore "o» 17 asked Xoo 27 that this v"va 77102 7%°va is not more

common than 9%, and just as you permit (the uncommon) 77°v2, you should also permit
making 3% on v"y (which is equally uncommon), which we know is prohibited, so too n%°¥2a
should also be prohibited.

SUMMARY
Either *55 27 assumed that 73"2 maintain ©"1°2 IRXY 217’V PR, or he assumed that
07 is only by something which is common but not by 311 77°v2.

THINKING IT OVER

According to mdoIn first answer that *»» 17 assumed the reason 71"2 permit 7RX17
v"1°2 is because 0" ARXIM 217°Y PR (but they do not agree to 7n1),° how can we
explain the npYomn between w"a and 7"a regarding’ v"va 7w 3 Ywana?®

> The X m3 responded that we do not require a 7% which is common (2°37) but rather a 7% which is needed by all
(w91 3% mwi 127), regardless if it is common (which applies to 72°¥2); however 737 is not wo1 737 Mw.
® See footnote # 3.
" See 2 ,2° 7¥"2 and previous 7inn 1"7 '01n (TIE footnote # 14).
¥ See (Trxm) X"wAn.
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